FURNITURE LEISURE INC

1.800.213.2401

60" /2”

www.FurnitureLeisure.com  www.PoolFurnitureSupply.com

www.PicnicFurniture.com www.PicnicTableSupplier.com
www.ParkTables.com www.UBrace.com
GNS60

T ,

227/4" )

-

55"

> I‘_ 241/4" _’l



POLYWOOD

Intelligent Design™

Model : GNS60

(1) Seat
(1) Back
(2) Sideframes

HARDWARE IS STAINLESS STEEL
UNLESS OTHERWISE SPECIFIED

QTyY DESCRIPTION
Mm-zo X 1-3/4 WAFER SHCS
8
1/4-20 X 2-1/2 WAFER SHCS Qty 2
2 “
5/16 x 4" Eyebolt Gty 4
4
TOOLS NEEDED
8 5/16 X 3/4 OD FLAT WASHER Qty 8
]
4 ( ) 5/16-18 NYLOCK NUT Qty 4 - 4MM T-HANDLE HEX KEY
\—/ (INCLUDED)
- PHILLIPS HEAD SCREWDRIVER
(SCREW GUN RECCOMENDED)
2 @ 307 X 2-1/2 X 3/4 S-HOOK ZN Qty 2
4 @ SNAP HOOK 1/4" Qity4
4 CI:@ 5ft ZINC CHAIN QTY 4
FURNITURE LEISURE INC Moty o mdsase - o

ASSEMBLY INSTRUCTIONS I 1.800.213.2401

www.ParkTables.com

www. PicnicTableSupplier.com
s vacrcom | 9121/2012




GNS60

Swing Assembly
Washer Washer
Step 1
Finish attaching Arm to Leg using
(1) 5/16 x 4 Eyebolt /’
(1) 5/16 nut
(2) 5/16 washer
Step 2

Repeat Step 1 for other Leg

Step 3
Attach Sideframes to Seat using
(4) 1 3/4" bolts

Step 4
Secure Sideframes to Seat using
(2) 5/16 x 4 Eyebolt
(2) 5116 nut

(4) 5/16 washer

Step 5
Attach Back to Seat using (2) 2 1/2" bolts

Step 6
Attach Side Frames to Back
using (2) 1 1/2" bolts

pg2of 3




Step7
Attach Back to seat using
(2) 1 3/4" bolts

Step 8

Hang swing : Tip: hanging mounts should be about 65" apart

Adjust this chain for height
(Sft porch max)

Adjust this chain for comfort

S-hook .
Note: once comfort is set, S-hook §
can be closed with tool "

Snap hooks

pg3of3




